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O dH= =¥ (20ha)

O DM MZ 2L X2 (25ha)

O DM M2 3= (10ha)

03 A2 2 THHI

O =AY =& AIZ20U4I
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= W
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513,607

80,173
42,293
11,364
26,516
168,225
18,225
45,000
105,000
90,000
45,000
13,500
31,500
167,475
18,627
44,655
104,193

7,734
4,640
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1,244
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O 2U=2 I3 J|(50ha) 86,784
= 43,392
= 13,018
Al 30,374
03 AlEE2HH]| 2,000 1,000 1,000
O =IIRIIAY =& AIE2 0] 2,000
= 1,000
& 300
Al 700
UAMSMAMAT ADSH(AZHSMASHI(Z2)) 300,000 0 300,000
= 200,000
& 30,000
Al 70,000
402 BI2H X 20| M 300,000 0 300,000
= 200,000
= 30,000
Al 70,000
02 CIZEXIE A EX (0| XM THL) 300,000 0 300,000
O MERASMACT(2L2) 300,000
= 200,000
& 30,000
Al 70,000
224 DR D) 106,151 97,658 8,493
= 53,800
= 15,705
Al 36,646
101 2121 4| 100,533 90,662 9,871
= 50,266
& 15,080
Al 35,187
04 JIZtHI22XNSE S 100,533 90,662 9,871
O MEHIOIQOHA L& S o12AH|(4H) 78,853
= 39,426
& 11,828
Al 27,599
O =JI3RI| KN ZAFEE o1AHH (1Y) 21,680
= 10,840
= 3,252
Al 7,588
201 et d| 5,618 6,996 N1,378
= 3,534
& 625
Al 1,459
01 AP 2t 2] H| 5,618 6,996 A 1,378
O AMEHHIOIQIHA =3 HNEE S 4,568
= 2,784
= 535
Al 1,249
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SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
O =3I ME oNEE S 1,050
= 750
= 90
Al 210
PN S ENE 3,826 64,664 60,838
201 et | 826 826 0
02 B32ZH| 826 826 0
O dX&EE3E I e So|IE=
2,260 * 100= 226
O AXREAD HIAZ2HH(3Y) 600
202 044 3,000 2,000 1,000
01 2L HI 3,000 2,000 1,000
O &HXI ™ S6 oA 2 el S8 ol
0,0008 = 2 * 50¢ 2,000
O «gol st I 40,000 * 25X 1,000
SMHHSE SE2H4x 1,000 1,000 0
= 1,000
202 o4 H| 1,000 1,000 0
= 1,000
01 2L HI 1,000 1,000 0
O sSHE 2 & & 0| 1,000
= 1,000
S ELHES 33,600 64,400 A 30,800
= 14,400
= 5,760
Al 13,440
402 SI2t 20| & 33,600 64,400 A 30,800
= 14,400
& 5,760
Al 13,440
02 QIZtXIE2AISE &2 [PSPUEED] 33,600 64,400 A 30,800
O 2eEsgd22(1201) 33,600
= 14,400
= 5,760
Al 13,440
T B A A AS TH O 2 31,500 12,657 18,843
= 24,386
= 2,134
Al 4,980
402 SI2vXHE0| ™ 31,500 12,657 18,843
= 24,386
o= 2,134
Al 4,980
02 CIZEXIEAISE X (0| XM THL) 31,500 12,657 18,843
O &EHEA) 1024 31,500




2N s
Mz AtEl st
el ZEALY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 24,386
= 2,134
Al 4,980
AHE] B S A AFEEX] 36,680 836,352 ANT799,672
= 18,340
= 5,502
Al 12,838
402 RI2H X201 M 36,680 836,352 ANT799,672
= 18,340
o= 5,502
Al 12,838
02 CIZEXIE A EX (0| XM THL) 36,680 836,352 ANT799,672
O 2z, 283 & (AH) 10A 36,680
= 18,340
=} 5,502
Al 12,838
QUASMAD|I XM 186,176 70,926 115,250
= 93,088
= 27,926
Al 65,162
402 SI2t 20| & 186,176 70,926 115,250
= 93,088
& 27,926
Al 65,162
02 QX2 A E X (0| & THS) 186,176 70,926 115,250
O HAZ AL, GISLAANAE S 44 186,176
= 93,088
= 27,926
Al 65,162
AMNEFSIIEXTY 38,160 11,622 26,538
= 19,080
o 5,724
Al 13,356
402 SI2vXHE0| ™ 38,160 11,622 26,538
= 19,080
o=t 5,724
Al 13,356
02 CIZEXIEAISE X (0| XM THL) 38,160 11,622 26,538
O N2MEANYE, AXI| S 4AH 38,160
= 19,080
= 5,724
Al 13,356
AMNSABSSAA 20,012 1,200 18,812
= 10,006
& 3,001
Al 7,005
402 IV X201 & 20,012 1,200 18,812
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Al 7,005
02 U EALEZ(0IETHR) 20,012 1,200 18,812
O g2 23N s 84 20,012
= 10,006
< 3,001
Al 7,005
TSI MAXHA 50,000 10,000 40,000
402 RI2tXt20l ™ 50,000 10,000 40,000
01 212t 2 AL E = (REM ) 50,000 10,000 40,000
O &&ed EHXA 50,000
QMSHEHsIH HS2EHA X3 AY 25,000 0 25,000
402 QI2H X201 M 25,000 0 25,000
01 2I2E 2 A B (KM ) 25,000 0 25,000
O HAsI ds2e¢xt 2|
2,500,000& * 10= 2t 25,000
HIOHAN SYMX XA 25,000 0 25,000
402 RIZEXtE0| A 25,000 0 25,000
01 212t 2 AL E = (REMTH ) 25,000 0 25,000
O HZNHA SEHX K&
2,500,000& * 10= 2t 25,000
MUS, 24 MlsO XA 12,500 0 12,500
402 QI2EXt20l ™ 12,500 0 12,500
01 2IZt Xt 2 AL E = (REM &) 12,500 0 12,500
O &MU, %= MisIt XEALS 12,500
2 2 SHZ 2e 751,723 673,873 77,850
s 268,249
Al 483,474
LA (MEAHE) (XXM A 2) 383,213 358,634 24,579
s 268,249
Al 114,964
101 @124l 17,660 15,254 2,406
s 12,362
Al 5,298
04 JIZHHZ2Z 2RSS E =+ 17,660 15,254 2,406
O g2l (2y, o124dl) 17,660
s 12,362
Al 5,298
401 A& HIZ 201 I 365,553 343,380 22,173
s 255,887
Al 109,666
01 A& HI 364,233 342,144 22,089
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O & &2 (4km) 31,053
s 21,737
Al 9,316
O LS &IH(1.5km) 333,180
s 233,226
Al 99,954
03 AIE 2 THHI 1,320 1,236 84
O LZAIE AIER20HI 1,320
s 924
Al 396
Yde 2 FR2e 10,400 7,200 3,200
201 Let24E] 4,400 2,200 2,200
01 At 22l 4,400 2,200 2,200
O 2EAEEX 22 HH A2 S
(EXH, 241 ) 1,100,000 * 4 4,400
206 M= Hl 6,000 5,000 1,000
01 =4l 6,000 5,000 1,000
O &84 2 = 6,000
sS4t il 253,900 253,400 500
201 Let24d]| 3,900 3,400 500
02 23=2gHl 3,900 3,400 500
O getat Satz st&a ®MIIe3 2,500
O &ectéh SIZFAFGE WHEHD(20HD)
200,000& » 20H 2 400
O gekdt & B 500,000& * 204 1,000
401 Al HIZ 201 8] 250,000 250,000 0
01 A& HI 250,000 250,000 0
O s&tz2 R E=SAH(0ISA LX) S 150,000
O getdh Sez2 ZdAY 100,000
SHtZ 22| 35,601 31,551 4,050
101 @14 Hl 24,384 28,261 A3,877
04 JIZtHZ2REES 24,384 28,261 N 3,877
O Saz oFEY Ry
80,000& = 5% « 30 12,000
O 3le stz =232 ogy
68,800& * 109 « 12¢ 8,256
O BUMNSHRSHFAHL Q24HS ALY
68,800& * 1H 5L« 122 4,128
201 ¢er24] 2,517 1,790 727
01 At 22l 150 50 100
O SHz2e8F FL(A4SH . HSITNS) 150
02 2324l 2,367 1,740 627
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O s&Z WHII KX
50,000& = 304 = 23l 300
O satz el oHI |FHl 1,440
O EXESHAS ML (0IS& d3) 627
206 M= Hl 1,500 1,500 0
01 =8l 1,500 1,500 0
O WA MY (2Y, 2, OIS S)
5,000& = 2004 1,000
O A=Y +MZH F2H 100,000& * 5H 500
401 Al HIZ 201 8] 7,200 0 7,200
01 A& HI 7,200 0 7,200
O getet 2Ex ATHA 200 & ==
3,600,000& =+ 23l 7,200
AL AR 65,809 0 65,809
308 XX EHSOIA 65,809 0 65,809
07 IXNHMAR S = 65,809 0 65,809
O MZASE (MXIASZ HAFZTEET, AL EHT)
(AlbI2g2) 65,809
AHEE AR 2t 2| 2,800 23,088 A 20,288
201 £B-2dH| 2,800 1,410 1,390
01 At 22l 2,800 1,410 1,390
O AHAFEHH XIS et & X1 H|
350,000& * 804 2,800
At=EHX] CH 2 1,446,593 1,172,265 274,328
= 318,113
= 204,073
Al 924,407
MEXSEH =2 48,645 45,345 3,300
201 Let24d] 38,195 36,895 1,300
01 At 2teltl 5,575 4,275 1,300
O OIS EH L (FEUHE #HE)
10,0008 * 1624 160
O MEXalYL 2y
20,000& * 11004 2,200
Ougs: 2l ¢ 10,0002 * 504 500
O XNERHEZ A2 63,000 * 5= 315
O FUHERLE= BA===2 8,000& * 40=2 320
O e & 2HEIBIE2 2+ 90,0002 =124 1,080
O 50E & Hgs R8I mX2a
100,000& * 10CH 1,000
02 2324l 32,620 32,620 0
O ZAto 2 X2+ 2,500,000& = 20H 5,000
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OGXEd2HLASN X 57 N
1,2203 +34 *50H 140 25,620
O &2 HAIME SXNE=
200,000& =« 10CH 2,000
206 M= Hl 7,050 5,050 2,000
01 =8l 7,050 5,050 2,000
O MEXGHH MEFL(ERISA S)
100,000& * 4534 4,500
O METSFH HERY(ZZ, 0tA3)
5,000& = 1604 800
O &3l 202 2 150,000 * 5CH 750
O =2l & ZAE AEES
20,000& = 509H 1,000
405 RHoHE S HI 3,400 3,400 0
01 AL EFSFH S 3,400 3,400 0
O M= JfAINE 2
,500,000& = 1CH 2,500
O M=2dX HEE B 300,0008 30 900
A2 2R 602,665 490,982 111,683
< 60,922
Al 541,743
101 1A Hl 501,928 389,987 111,941
< 60,232
Al 441,696
M4 IR Z22NSES 501,928 389,987 111,941
O MSZAIJ 2124d| 470,940
< 56,513
Al 414,427
O MELAY BB 30,988
< 3,719
Al 27,269
201 et 3,450 3,450 0
< 690
Al 2,760
01 At 22l 3,450 3,450 0
O 223X ZoE 3,450
< 690
Al 2,760
308 XXM S0 A 97,287 97,545 A 258
07 XX SM2ARE S 97,287 97,545 A 258
O MEBRFE INAX(ABIESZ) 93,375
O &rSZHAl M3tols NEHI(AMHIREZR) 3,912
AFEITHOH 2 Kiel SHOI(MEH 20 LX) 627,019 595,718 31,301
= 250,807
< 112,863
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101 1Al 587,340 556,039 31,301
234,936
105,720
246,684

= N W

04 JI1ZtHNZ22 s+ 587,340 556,039 31,301

O t=dIaLasN At 551,100
220,440
99,198
231,462
O &zt 288 36,240
14,496
6,522
15,222
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201 fEt2E | 39,679 39,679 0
15,871
7,143
16,665

= N H

01 AFR2t2lHl 36,000 36,000 0
O dsdsil 22= 20,000
8,000
3,600
8,400
16,000
6,400
2,880
6,720
3,679 3,679 0
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1,471
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1,545
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o
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ASHEMAH 2 X 29 79,700 8,000 71,700
31,880
14,346
33,474

=z N H

201 LEt2A | 19,700 8,000 11,700
7,880
3,546
8,274

= MW

01 AtR 22l | 4,500 0 4,500
Ot=AEe MAMA e St 4,500
1,800

810
1,890

S3 2l 15,200 8,000 7,200
O RAUZAIItN FNE s 8,000
3,200

= Hn W
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A e XA
SHl: AE YR O CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,440
Al 3,360
O ¢tERAER MAEHMA I SFHI 7,200
= 2,880
= 1,296
Al 3,024
405 TtHabH S| 60,000 0 60,000
= 24,000
< 10,800
Al 25,200
01 et EFH S 60,000 0 60,000
O RelZAlItoiet wAl 60,000
= 24,000
< 10,800
Al 25,200
SdSHA 2= R 24H 88,564 32,220 56,344
= 35,426
< 15,942
Al 37,196
201 ¢er24| 25,304 25,100 204
= 10,122
< 4,555
Al 10,627
01 At 22l 19,194 18,990 204
O &=&3 A 3,594
= 1,438
< 647
Al 1,509
O JHel &l st &I 15,600
= 6,240
< 2,808
Al 6,552
02 =224l 6,110 6,110 0
O MEEZAE AXNZHAIAH SA= 6,110
2 2,444
< 1,100
Al 2,566
202 044l 4,260 3,120 1,140
= 1,704
< 767
Al 1,789
01 S LHOIYI 4,260 3,120 1,140
O dsdlgtess & EXNE8E 04l 4,260
= 1,704
< 767
Al 1,789
405 XHobF S HI 59,000 4,000 55,000
= 23,600
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= 10,620
Al 24,780
01 XAt 2 E F S| 59,000 4,000 55,000
O sUE 238D 4,000
= 1,600
& 720
Al 1,680
O 62 SAFEU(ZHIIXR) 10,000
= 4,000
& 1,800
Al 4,200
O M=E2X3E XNEE 2 45,000
= 18,000
= 8,100
Al 18,900
=EMCAlXA 362,053 588,676 A 226,623
= 134,941
o= 44 338
Al 182,774
TAE =M 179,736 315,688 A 135,952
= 25,000
= 22,625
Al 132,111
SOo=MEd X2l 45,392 37,344 8,048
101 21 21d| 27,476 26,044 1,432
04 JIZtHI22XNSES 27,476 26,044 1,432
O =olld)l} AEA(SE A2 E D,
Afx==9) 27,476
o 212H| 68,800& *2H »22 x7 & 21,191
0o f=8Yd 68,800& 2H x4 «7& 3,853
o0 AjEE = 24,315,200 * 10% 2,432
201 et d| 6,787 2,500 4,287
01 AFR 2t 2| H| 500 500 0
O =dld T2 29 W7 L AIREE 500
02 Z2=2=24%4| 6,287 2,000 4,287
O 9X2 A Z2HBI(K0tE 2IHA) 5,687
O So=HEl(2E-MD|, =E22)
50,000& * 12€ 600
401 Al HI L £ 0HHI 11,129 8,800 2,329
01 Al& H| 11,129 8,800 2,329
O |o0t= (20, 2%) SN2 11,129
MEANHAESR20 2SR (K0t DE2Y) 50,000 44,000 6,000
= 25,000
= 7,500
Al 17,500
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= HnH
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100,000& = 504 = 32 1,500
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209
488

=z N H

202 O Hl 3,000 3,000 0
1,606
418
976

= Hn

01 SLHOHI 3,000 3,000 0
3,000

1,606
418
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= N H

206 M= Hl 8,416 8,999 A 583
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= N H
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M
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=
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=z MW

ALRITHOH 2 Kbel & DI (A2 ol & 0fl 2 g RIE) 78,938 80,680 A1,742
39,469
11,841
27,628
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= M W

101 1Al 65,648 75,195 N9, 547
32,824
9,847
22,977

= M W

04 JItNZ22XsSE* 65,648 75,195 A9,547
O &MEdgals ELue 65,648
32,824

H

- 101 -




2N
X ZH -
L= B

el

>

vz o

0F &
>
0x

on
=

o b
s
H
rl
0

SA-3H-S(3AH) - MRAS - BES Off &t 24

=4y

M

2
==
£l
Ol
0y

9,847
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201 fEt2E | 10,596 2,560 8,036
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1,590
3,708

= M W

01 At2 2t 2l bl 8,644 2,560 6,084
O LM 223 (0L2ZHIE ) 1,494
747

224
523

= N W

O MEHNHS HE - UM HTYX
800,0002 * 83 6,400

3,200
960
2,240
O MEYRES ASDIY 150,008 * 5 750
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o
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%
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I
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405 TtabH S| 2,694 2,925 A 231
1,347
404
943

= 0 W

01 AL ESFH SH 2,694 2,925 A 231
O EgHE 28 FL(MEUHHI S) 2,694
1,347

404
943

= N H

A2USHEESE X 85,709 152,815 A67,106
61,015
,408
17,286

= H W
~

201 LEt2A | 949 1,615 A\ 666
664
105
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SN FH-SA(EN) - MBAY - BES e HlnE2
401 Al HIZ 201 Y| 84,760 151,200 A 66,440
= 60,351
< 7,303
Al 17,106
01 A& HI 84,000 150,120 A66,120
O AUSHAeSE ZHMAY 84,000
= 59,819
= 7,220
Al 16,961
03 Al S THHI 760 1,080 A 320
O 2URHASE MM AIERUY 760
= 532
< 83
Al 145
HY2FZH (A D) 25,884 25,884 0
Jl=&l 25,884 25,884 0
Jl234 25,884 25,884 0
201 Let24d] 22,884 22,884 0
01 At 2teltl 13,384 13,384 0
O SAEXN 7¢ 19,800& = 10=A = 128 2,376
O SAMI - Z8H EH, 58 2 2,500
O JIEt At &2l 8,508
02 =224l 9,500 9,500 0
O HEXNHNSIA L SZHERES(6U)
120,000& * 6CH 720
O ZEXeg HIIBM ==2(60) 180
O 2EXNEFFHI 5,000
O &2l 300,000& = 6CH = 23] 3,600
203 YR =&l 3,000 3,000 0
04 EASSYRFEH| 3,000 3,000 0
O BA2EYR=4I 250,000& = 123 3,000
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